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a positive quantity

Figure 9.16 The variation of a; with composition in the system iron-nickel.




OCu

1.8
1.6
1.4

1.2
1.0

0.8
0.6

0.4

0.2

i S SESESL MERShei EEeman Smmas | PR

Integrated area is
a negative quantity




1S CaasS (g 550 o8 51 B ssa Jaloe S 0 ST
ag = kg Xy

loga, =logk, +log X,

dlog a, =dlog X,

Xs ginx, - XsdXs __dX%,
XA XA XB XA
_dXA

XA

dina, —-

~dInX,



Ina, =MmX, +In constant

a, =constant X ,

L B B . H = 5 5
ldu}L.aﬂLIailju.Al W%‘HGPCJ?EJ'B’)?J@“BWPLJJJ
13 oaSes Bows alad, o

T
'-\ | I ~
-
N | 1
u |
\l -"b
‘r 7
% 4
| % i
[ oy |
I '\‘1 I
"\.
| |
a ' |
A | |
:
| |
|
| RN !
| % » |
| - A |
<.
| P '
| |
| \ '
5 . = o
& "" I
- =,
.‘; | ; k-,h \\.l
L e £
A e
_,-_.__..-""" | e
1




it [T odyl slalalone dpes 25, Llond 5l anel3 Ly sla Jalone
AHMReE £() = ASMreg = ASM.d

ol Yoo gV r s coue aaelB L slglalore o Pl sl

oo oy JT onyl cslalpbone i 505 asel L cslelplone o Dl 0,5
Sbl goae o ailet e Plodl el (3 coal pa S 0 Lgedl (5 Kol
Ye 3 Ya el 535 5 9 8B 5 8A ok Sy abrasd cilie sla oS 5 (5
POCLIPRCIY. KX P R PP S v v

Xa |8a |9 |74 |TB
0




S (o8 ey 005 3 () als BlES
]IITE + ’ =
X4 S (oo Ghiln i S loges LU 5
S
Iny, =X, +5ﬁ2X4 +Eﬁ3XA T
1 1 Xdhny, =—X,diny,
Iny, —a,X, +5azX; +5a3X; =

Sas A Lo (gl pad dlozr 5 5 00l 25l 1 resms jaley Jf0ged Lol 5 iowis S
i) (50 2 TS 4 S — S alayl 5l eoldzud Ly
[a=p=0

L a,=p,



054 ga gl 5 Las, 13

RTlny, =aX, | op = o = 0t = Inys Inyg

2 2
RThhy,=-aX; (1-Xa)" (A-Xp)

"y

Loty el 632l3 s &8 il pmpidi s 7 g ale jo blysaanls [ Jolova 8




:r,,..‘L&la ascld LJ ‘_gL.Qle:u S
ATT™ £0and AS™ — AS™* — R InXi

S glglone plas (512 g5 (g0
AGY = AG** + G™
G=G"+G™
AGM = AHY —TASM _AET"0 \ AGM# — _TAS™H
ARy

G™ = AGM —AG™* = AH™ —T(AS™ — AS™+)

X5 M, -
G” =AH""™ auels b cledalone o




AG* =RT(X ,na,+X,ha,)
—RT(X,In X, +X,n X, )+RT(X,Iny, + X, Iny,)

AGH~ G*
(;ACs :RT(XA]I‘?'A +XB ]]1}’3)

Iny, :aXi
]nyA:aX;

iy

- — G =RTaX X,

ascls Ly slglglna o — |G =aX X, =OX X,




o 2l Jlude Plodl sl onclB b gladabons 5o
{GG‘“

J =
or P.comp

G.° =RT, Iny,,,=RL,Iny,,, = aX:

ny @T, 1T,
hy @T, T,

By: Hooman Baghban
hoomanbaghban66@gmail.com



	Slide1
	Slide2
	Slide3
	Slide4
	Slide5
	Slide6
	Slide7
	Slide8
	Slide9
	Slide10
	Slide11
	Slide12
	Slide13
	Slide14
	Slide15
	Slide16
	Slide17
	Slide18
	Slide19
	Slide20
	Slide21
	Slide22
	Slide23
	Slide24
	Slide25
	Slide26
	Slide27
	Slide28
	Slide29
	Slide30
	Slide31
	Slide32
	Slide33
	Slide34
	Slide35
	Slide36
	Slide37
	Slide38
	Slide39
	Slide40
	Slide41
	Slide42
	Slide43
	Slide44
	Slide45
	Slide46
	Slide47
	Slide48
	Slide49

